1987 1A18(7 X

4H 41 41 41 4K 4K
=E=E

O OO, O O, g K

o=
Ko e g B

&R

i o . B

&
B M 3 < 3 Y

[
0
kbt
I
i

(CHEREM)
({eTOBRLAT)

(LK EERERERLEATI)
CHk 40 BHIERLEATT)

o
A
7%
il

[ J
U5
=i

101

[ J
ENEEY
)
E
=

SHER
=

o

BH AR

I
s

o e
0|
g
B |EB

BEME
BR OR OR oA

IR IR 153

T%ﬁﬂ|ax$

— AN
- _.mEu_/._J____DME#_:_n_
_I ._.m_“_“_..vA._uw“_._.m_“___:n_

._.m__“_“_._ﬁ._ﬂ.h__”D Lﬁ_____n_
_I +Ix$| [I[1=]

— RSB
— SEGHER | B

L R (B
OK K G4
j /lBA._ﬂ_ mm _ =]

&@A-Ik% _ _ =]
L e 18
—I %Kﬁ::ﬂ

.L.%AAEEE

— @ RIK< IR KRR

_Ik_”_”_._”_TI o

— o KKK

g
— B
— 240

— o IKIDOHKR | 58

— BHEXE
— Rt
[ w_._._mwr_____u
IHE”_W_._._@EM _ mio

— @ KKK KER

— @ IROKEDIHK K |

— o KIS TR | |52

H_”_._”_W_._._A%_ _____n_
— H_”_._”_w_._._mﬁu%_ | _____n_
- H_”_._”_w_._._m%@____u
[ H_”_._”_w_._._m%% _ o
— TOHKERT (B
— i

— o {5 E 0D

— S
— S0P
— = Hihpoid
— HRTRp
— B

o BB IK- 0

KX
— M-k
— I
— TOHKER | BE
— TOHKER | |6
— TO3KHR I IR

] o DO TT]

(o <]

— Tk EREIRS
— WEE X
— HRIXE

— @ R DOHKER

|§¥%_§
— H_”_._”_w_._._mwm%_ _ mno
— KIS

| o IR

— TS
— B
— A

EYSEIEE

— EE X
— =
g
— RN

| ® WAKI

— IR

- :/,_/A__JAulea _/A_m_m_,_*m

a1
X

_____

#AF1HR



